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Defence and Strategic Studies
Paper 1II

T U 9WRen 3rega
qy-utseRt 11

Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT ¢ A1 TRAULEhA THY IR (100) g0l W foerel ofed. Jish JReren g (2)

U Sed. @d U Wi

The wars in Iraq (2003) culminated

in regime change of :
(A) Sunni regime

(B) Shia regime

(C) Baathist regime
(D) None of the above

UNSC Counter-Terrorism Committee
is assisted by CTED. What does
CTED stand for ?

(A) Counter-Terrorism Executive

Directorate

(B) Counter-Terrorism Committee

Executive Directorate

(C) Council of Counter-Terrorism

Executive Directorate

(D) Counter-Terrorism and

Executive Directorate

2003 HEffel U Fgral qROMH WA

EATeTUehT ShIOTCAT |l TTHETE ARl 2
(A) gt TSTere
(B) fern Tstae

(C) oI TSae

(D) SAAUh! HIUQEl TR

TIF TS I A SgRIaaal
foeg TeuvarTet St 9fbdl Tmad el
e N GiYdien Aed HIoImEer 913,
3. Wt TMY HUAE 3Tedt TR
HAZE T I wWET (A SR

(C) HI=A F HTH=eT 2U0HH
THRfHRfCR SRR

(D) H&=C g 3fe wEiHfee
TR

[P.T.O.



Which one of the following is not an
international organisation as per the

definition given by Inis Claude ?
(A) United Nations

(B) G-8

(C) SAARC

(D) NATO

The outer limits of the legal
continental shelf cannot exceed 350
Nautical miles from the territorial
sea baselines or 100 Nautical miles

beyond the ................. isobath.
(A) 100 meters
(B) 200 meters
(C) 2500 meters
(D) 1000 meters

Which is the apex body of Disaster

Management in India ?
(A) NDMA

(B) IMD

(C) GSI

(D) NIOT

JUN - 16220/I1—A

s Fite M o ARSEER TIetieTte!

HIUT AT G & 2

(A) HIHR T
(B) Sit-8
(C) ¥R
(D) e

YRR3R STArEr=A 350 Affeshal Hemuen

FHifeded Tow=ar oed TH1 fohan

(A) 100 HreX
(B) 200 HreX
(C) 2500 HieX
(D) 1000 HeX

TRATHE SATORH SHTEATIAT= Fered Qi
HIUCI SR ?

(A) TA.ELTAT

(B) 3H.TH.EI.

(C) il.TH.374.

(D) TH.3T9.37.3.




Which of the following days is
observed as International Day for

Disaster Reduction ?
(A) 15th October
(B) 21st June

(C) 30th June

(D) 13th October

Who amongst the following regarded
defence expenditure is truly as
‘Public Good’ ?

(A) Adolf Wagner

(B) K. Subramaniyam
(C) Adam Smith

(D) Prof. Maurice Dobb

Programme budgeting for defence

preparedness had its origin in :
(A) Britain

(B) USA

(C) Russia

(D) Australia

FATA belongs to which country ?
(A) Afghnistan

(B) India

(C) USA

(D) Pakistan

JUN - 16220/I1—A

Teeyeh! vl fad o STawrsey

ST ST ford UM lesenl Sl 2
(A) 15 3R

(B) 21 A

(C) 30 SH

(D) 13 3R

GreAleien! S0 § Ues o 3Te R

T ©E 8 Wesieh fedrdet
Holel TE Ty ?

(A) STETeh IR

(B) . om=aH

(C) 3feH Ty

(D) WhER A =fa

TRETU FoSTieR STERIA SISk ShRIsh AT

3T Yl ST HTell

(A) FoIe

(B) 3T

(C) ¥

(D) sifeferan

TRIST YT WA TeTUehl ShIvTe SETA ST ?
(A) TR

(B) ¥d

(C) FTHT,

(D) drfeR&a

[P.T.O.



10.

11.

12.

‘String of Pearls’ strategy against
India is adopted by which of the
following ?

(A) Russia

(B) Japan

(C) China

(D) USA

Which one of the following books

was written by Carl Von

Clausewitz ?

(A) On War

(B) The Art of War

(C) The Peloponnesian War

(D) Rise and Fall of Great Powers

Which of the following books is not
written by Mr. Zbigniew Brzezinski ?

(A) The Permanent Purge : Politics

in Soviet Totalitarianism

(B) Game Plan :
Framework for the Conduct of
the US-Soviet Contes

(C) The Grand Chessboard

American Primacy and its

A Geostrategic

Geostrategic Imperatives

(D) Frontiers, and

International Organisation

Security

10.

11.

12.
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GATeUeh! ShIoEl UM TR ?
(A) e
(B) ST

(©) =
D) FTET

TR hIvTd &I hiel A Farsiros]
I fotfeet sme ?

(A) 3F &R

(B) fg o1 affw aR

(C) f& ez an

(D) eS| 3f€ Wid 3E Y2 dfeR
Wit HITA &Ik e taal
SEfer<hl i fafeoel Amar 2

(A) T THFC U : UifdAfesd 39 Wifgue
fereftertzm

(B) T = : 31 fSef=feloe HHas
TR Hede AF I.uH.-Hifawe

o

h[<d

(C) fe ife Sgare ; s gIHEt 3t

SN e oo N

ey forrgrefSe sfaifesss

(D) wicad, fagfEr ofe seHyHa
K IRIEIPENE]




13.

14.

15.

Comprehensive Convention on
International Terrorism is a
proposed treaty which provides a
comprehensive legal framework
against terrorism. Which of the
following countries has proposed this
Convention in 1996 ?

(A) India

(B) United Kingdom
(C) USA

(D) Austria

The 1973 war between Israel, Syria
and Egypt is also known as :

(A) June War
(B) Tank War
(C) Night War
(D) Yom Kippur War

The term ‘Vertical Proliferation’ of
nuclear weapons refers to ............. .

(A) The phenomenon of countries
increasing and modernising
their nuclear weapons and
delivery platforms

(B) The phenomenon of countries
which do not have nuclear

weapons build nuclear weapons

(C) The phenomenon of countries

reducing the number

(D) None of the above

13.

14.

15.
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FAR (FH1EET) T SN Sevraae faes T
{[Yen °|')|¢|Q?|ﬂ|{ {A[-HN[LEl S| IY{ed

FET qdl. JEIeTIsh! HITA SIM 1996

LY T HIASAT=A TG qree ?

(A) HRd

(B) gAEee fehmed
(C) A&
(D) AR

1973 AHA SRI-THRA & o &,
gioa Aed fogierel ded e @& g
Wﬁ?ﬁwaﬁ 3

(A) SF uda g5

(B) TMMEl IgUusdra g5

(C) T dedddl I§

(D) I\ fFR g5

TS STUeleh I THR RS
(A) 3Tvelieh YETET YR o

e SRISR T ST v F70m
G HTO & 3R QUM FIi
e

(B) 3w ¥eg T < TvaeuRia AR

(o

Ul UGS YT hOAEET I

3Ted

(C) =1 eft U o & 37U Il
A LA

(aV

(D) S{ieTeh! hIvde! &l

[P.T.O.



16.

17.

18.

The International Monitoring
System (IMS), a network of global
monitoring stations has been
established as part of which one of

the following treaties ?

(A) Biological Weapons Convention
(BWC)

(B) Nuclear
Treaty (NPT)

Non-Proliferation

(C) Chemical Weapons Convention
(CWC)

(D) Comprehensive Test Ban
Treaty (CTBT)

The term ‘Detente’ deals with :
(A) Formulation of military alliance
(B) Strategic partnership

(C) Relaxation in military tension

(D) Joint military exercise

The NGO dedicated to the release
of political prisoners all over, is

known as :

(A) Amnesty International
(B) Red Cross

(C) Human Rights Council
(D) None of the above

16.

17.

18.
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qeIeTueh] HIVIAT HIRAT AN TUH

FHOIEE] SMTfaeh  TLER _%P_S\' RIKE

HLOI Al e ?
(A) Sifaeh e qeft
(B) U TER &l hil

(C) THmEfTeh Tome Heft

(D) HAHHSYER 3TUEE THR Sl hil

~

led

Al B HheudT HIEl IR ?
(A) osw eArererE fafHdt
(B) WMk “WTERt

(C) TRy qumamed fRrferetdn

(D) UshfAd Rl SHard

SHfqeh herea geohara! Teerdeh]

vt TR TR e (TS .87
FHRRG MR ?

(A) TR SR

(B) T %™

(C) wrel Bk dRwE

oo Lo

(D) SeTUeh! hIOAEl TRl




19. The origin of the modern nation

20.

state system is associated with one

of the following :

(A) Congress of Vienna
(B)
©)

Treaty of Utrecht
Treaty of Westphalia

(D) World War

(1) National Governments
frequently bypass the mission
command structure and issue
instructions directly to their

forces in the field.

(2) The Governments of troop
contributing countries are
reluctant to let the UN do as
it will with their troops.

Codes :

(A) (1) and (2) are correct and (2)

is the rationale for (1)

(B) (1) and (2) are incorrect and (1)

is not the reason for (2)

(C) (1) and (2) are correct and (2)

is not the rationale for (1)

(D) (1) and (2) are incorrect and (1)

is the rationale for (2)

19.

20.
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MYk AT T TG STH ETeiTerden]
FemEt frfeq s ?

(A) foT=n &B=

(B) I W

(C) IR HIN

(D) SFTidh IS

(1) &A= dosell THYM hHATe HoFalal
ST T TR thee (FHRIEHN)

I ST = STl s

RY M.

(2) T THSATAT AMEH FHIUN THR

TG o2l AT T Toheral AT

3o TR S QUATE Y ST
Hehdich :
(1) =7for (2) SR AT (2) 7 (1)
= doh 2Te
(1) aTf7 (2) I o omfr (1) ©
(2) = SR AR
(1) smfor (2) SR 3R =AM (2)
T (1) = HRO ATl

(1) mfor (2) =& o oo (1) ®
(2) =T T TR

(A)

(B)

(©)

(D)

[P.T.O.



21.

22.

23.

During the reconnaissance and the
reformation, there was a revival of
protest against inequality based

on :
(A) Religion
(B) Nationality
(C) Wealth
(D) Gender

enhances civil-military

integration which reduces the
burden of defence expenditure by
promoting technological sharing,
supply chains, technologies and dual

use technologies.

(A) World system theory

(B) Modernisation theory

(C) Linear stages growth

(D) Globalisation

Who among the following stated that

‘Geopolitics is a pseudo-science
erecting the factor of geography into

an absolute’ ?

(A) Mackinder

(B) N. J. Spikman

(C) Carl Haushofer

(D) Hans J. Morganthau

21.

22.

23.
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Freror S7IfoT Qe Shadi STaHa=
TrEer. B folig 81 HIMer i
Far ?

(A) =d
(B) TiTe
(C) Huit
(D) fam

TSR ARR] T FEIT hedTd TLETN-
gid EEid, w9, 99 fasfad
FIOIEST ARTRGRTET FEHM, YLdal-
LTI ARA TehId Hed 9 a9
AT AR f3uged a9 3. |el
A1 THog Thd. &1 TRl Tefeldeh]
v fagraren ar e ?

(A) SNTfaes dgdran fggma

(B) smefentepzomen fagra
(C) fafeR & 7y

(D) SITfdentehoT

YUSHIAT US| 379 I 318 hi SIS
TRl ST USRI Seehr] FHfHd
Bl

(A) 9. Hfehrsl
(B) . . TEHAT
(C) el TR
(D) &9 3. Ay
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24.

The International Monitoring
System (IMS) established as part of
the Comprehensive Test Ban Treaty
(CTBT) does not include :

(A) Radionuclide monitoring
facilities
(B) Hydroacoustic monitoring

facilities
(C) Satellite monitoring facilities

(D) Infrasound monitoring facilities

24.
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FIGHIENT AU YHR Sa] SHIET 9

U S =0 570 hiore

M= HHEYT Jevad STl Aal 2

(A) YesTgaaEe fasmaTed= Feesd

NN A o~ .

(B) BRI f US| Hoead

(C) SYUg TEuneed=t Haesd

D) TAHREES BREMIEIENEIRIEEN

25. Arrange the following concepts in | 25 Weiidl Fhoddl HIARHATIR TR
the chronological order of their ST FTE S e ARyE S
appearance. Use the codes given
below - () g faursEmEn fHsid
G) Theory of separation of powers (i) 3TeRl ToAr= HehedHl
(ii) Concept of ideal state (i) WMHfEH &1 Heheul
(iii) Concept of general will (o) T TR A
(i) Withering away of the state it
Codes :

A) @) Gv) @ @@ W
®B) G) G @) ) B @@ w) 0
©) Gi) Gii) G) G C) @) @) @ @)
D) @) @) Gv) @) D) @) @) Gv) @)
11 [P.T.O.



26.

27.

Choose the correct option about

disaster cycle :

(A)

Response, Recovery, Prepared-

ness, Mitigation

(B) Recovery, Response, Mitigation,

Preparedness

(C) Preparedness, Mitigation,

Recovery, Response
(D)

Mitigation, Preparedness,

Response, Recovery

Choose the appropriate code for
Assertion (A) and Reason (R) as
given below :

Assertion (A) :

War finances are the main backbone
of a warring nation without which

it cannot think of winning a war.
Reason (R) :

Defence Economics is new academic
discipline for defence researchers

and economists.

Codes :

(A) (A) is false, but (R) is true
(B) (A) is true, but (R) is false

(C) Both (A) and (R) are true and
(R) is not the correct explanation
of (A)

(D) Both (A) and (R) are false

26.

27.
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ST ShToToshTal @oiTeTdehl ShIvTd]

T AR e A feer

(A) FfqER, gAuTw, Foordr, U9

(B) TAWIw, WqER, SUSEHA, ool

(C) Hooral, SURTHA, GAWl, FiaeR

(D) YA, Feordl, WadR, gIar

EcATeIdeh! SMHAT (A) 30T deh TRl (R)

AFATAA Hebdledl STl Soeell

oHAd (A)
IR fax STaed & IS |ihd

STHUAT ST RN STHAN SATATIAE

T g5 fSevamn faer && vehd @
aehvTet (R) :

TRYU AR B remzAr= fommemen
3R,

i
(A) (A) I % W (R) TR 3T
(B) (A) F=R 38 W (R) I 3T

(C) (A) =TT (R) Tal SRIeR 318 3T
(R) ® (A) @ Ir9 TRl T8

(D) 3= (A) oo (R) I 3T

12



28.

29.

30.

Adam Smith wrote the book entitled,
“An Enquiry into the Nature and
Cause of Wealth of Nation” in the

year ........ce.... .
(A) 1843
(B) 1790
(C) 1776
D) 1724

Which of the following is not the
method of resource mobilization

during the war ?
(A) Loan

(B) Taxation
(C) Borrowing
(D) Savings

Which is the multilateral treaty
proposed by United Nations to
regulate international trade in
conventional weapons in order to

prevent arms trafficking ?

(A) Arms Control Treaty (ACT)
(B) Arms Trade Treaty (ATT)
(C) Arms Prohibition Treaty (APT)

(D) Arms Reduction Treaty (ART)

28.

29.

30.
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sfen fmy o ol T 3§
TR 3f~s HIS ME ded Ah wE"
T g Horen ot fafge ?

(A) 1843

(B) 1790
(C) 1776
(D) 1724

TIEATEUR! IV T5d & JEHIBNTA
IEAEI=A MfaAHa= 9 99 2

(A) et
(B) fafay wepr= &
(C) SUR-ZgTart

(D) fafay Yer=t s=@

TSN SR @IS ST
TSI YEcTueh! IV SIgSe e harl
THE Headl 7

(A) = s gen
(B) IFHATE IR TR
(C) T=es a1 §eft

(D) TSRS U Ged

13

[P.T.O.



31.

32.

33.

Expenditure on acquisition of assets
like land, building and machinery,
would come under ambit of ......... .
(A) Capital receipt

(B) Aggregate demand

(C) Capital expenditure

(D) Revenue expenditure

Who coined about the efficient
utilisation of defence expenditure in

the form of standing army ?

(A) David Ricardo

(B) Jean Baptiste Say

(C) Adam Smith

(D) Malthus

Defence Budget does not deal with :

(A) Maintenance of defence

equipment

(B) Salaries of defence employees

(C) Disaster management and
mitigation
(D) Procurement of new weapons

and equipment

31.

32.

33.

JUN - 16220/I1—A

STHIE ©ReT, T sieehm, AfyHa=T

WET A HIGHHS! Shedl SR &=

AT ShIUTeAT ST o STEdl 2
(A) WiEaes WTat

(B) Wehedid HNTOA

(C) Wieded @

(D) Wegesl T

TRETUTER BRI @ 7 et IFeerer
HedT e T AN ST Bl T Ha
qElcTeh! IVl WS e ?

(A) SHIE I@lel

(B) 91 dmfe= 9

(C) 3T fmy

(D) wHIegH

T ISk & iieTdeh! shivred]

e e e ?

(A) HIU FoSd=a1 FIEAREITH
TETA/EA

(B) TRV oAl §e Afepi=n TR

(C) AT AT ST e Srd-
PISE

(D) o9 YA o HIEHr= g
HL]
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34.

35.

36.

“Teeth and Tail” ratio in military

logistics indicates .............. .

(A) A ratio between men and
materials
(B) A ratio between Arsenals and

men

(C) A ratio between men on front

line and reserve

(D) A ratio between men in fighting
forces and men in other than

fighting forces
Who wrote the book entitled, “The

Economics of Defence” ?
(A) Galbraith J. K.
(B) Kennedy Gavin
(C) Kuithara Verghese

(D) Hitch Charles J and Mekan
Ronald N
Which one of the following is not the

characteristic of capitalism ?

(A)

Principle of self-interest

(B) Limited duties of the
Government
(C) Principle of market control

economy

(D)

No division of labour

34.

35.

36.

JUN - 16220/11—A
31 afur Tge ! = gHIT ofehdl qREel-
AT TR 2

(A) dfe enfor e gEm

(B) IR Hral A1 Sfer el g

(C) df e oTfo yae g emenet iy

e o Il GHT

(D) JIY dQEd Heur TR Jfeh

T YA AT Iesd] S Hleh

T JHI
" e St § g hivf o
e ?
(A) TSI Sl .
(B) &Sl Tfed
(C) =i =it
(D) fea =acd & 3f~s B Ifes
TEeTeR! ShIvId AfTSe T HTSaeeeTR el
Heifed A& ?
(A) Hfedr de
(B) YHehd For=al TG SereRr41

(C) a~Rye frafsa tdegedm ad
(D) MR faarmie foiy

g
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37.

38.

39.

Who among the following opined the
concept of “Geographical Pivot of
History” ?

(A) Alexander De Seversky

(B) Karl Hanshofe

(C) Halford Mackinder

(D) A. T. Mahan

Strategic Studies is related with
study of :

(A) The military policies in the

nuclear age

(B) The evolution of warfare

()

The use of military power for

political objective

(D) The use of military power for

military objective

Who coined the term “Cyber

Space” ?

(A) Linda Billgates
(B) Sam Pitroda
(C) William Gibson

(D) E. D. Sarinton

37.

38.

39.

JUN - 16220/11—A
‘et diele ow feedt! &
Hehoudl WCHclush! vl gafaet ?

(a)

(A) TRel fe o]

(B) e &h

(C) THIE HFH3TIST

D) T A. HEH

AR IS 31999

(A) eTfogeh e TR HR0

(B) IS IhICT
(C) TISTeh! ILTAIHIS! TTsehil FHeATa

1L

(D) TRl eI IEIe! TThil HHeAE

EIRES

‘TEeR Tg’ g 93 RO SR ?
(A) ferer foereq
(B) ¥ Tl
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40. Find the correct chronological

sequence of the following thinkers :

JUN - 16220/I1—A

40. Teftd faamadr=n HTARATER 4

% T
(A) Haushofer, Mahan, Mackinder, . . .
(A) BINHL, HEM, HehaTdel, TH.ofl. S
S.B. John
(B) A.T. Mahan, Mackinder, (B) T WEM, HHIHAT, ?Fx"ﬁ‘??{,
Haushofer, S. B. John TaHl. S
(C) S.B. John, Mackinder, Mahan, (C) TH. s S, HheTel, Ta, SHT
Haushofer 0
(D) TehaTEeY, THE.E. W, BT,
(D) Mackinder, S.B. John,
Haushofer, A.T. Mahan o
41. (1) All cultures condition their | 41. (1) ¥d Tepdl @@= wew=M fafime
members to think certain ways, i foaR HLuam= 272 Sedid,
while at the same time il Teorean ufifeerdiet ‘Fﬁ;“@_”‘ﬁ
providing preset responses to ghEr 2qd
given situation.
(2) & UERdl SMUTH AT ST
(2) This culture bounds our o 1
. JHIAT YfqEE SUATEISt STH=aTehe
perceptions and the range of
options we have for responding AT TAAAT HART e,
to events. Hehdish :
Codes :
(A) (1) = (2) =T e 3T
(A) Both (1) and (2) are correct
(B) (1) s A8 3o (2) 9eh 3118
(B) (1) is right and (2) is wrong
1 ST (2) R
(C) (1) is wrong and (2) is right € @) =% e @) e
(D) (1) and (2) are wrong D) (1) = (2) I kSd 38
17 [P.T.O.



42.

43.

44.

Which is not a psychological aspect

of war ?

(A) Leadership

(B) Morale

(C) Discipline

(D) Military technology

Who wrote the book ‘Armament and

History’ ?

(A) A. T. Mahan

(B) J. F. C. Fullar

(C) Liddel Hart

(D) Palmar and Perkins

Which of the following thinkers
rejected the old condotlieri system
and favoured the idea of national

troops ?

(A) Giulio Douhet

(B) Niccolo Machiavelli
(C) Liddel Hart

(D) Karl Von Clausewitz

42.

43.

44.

JUN - 16220/II—A
Tl @it Fvmr qHfEE g
& 2

(A) g

(B) Hferan

(C) for=

(D) TR A

‘oA ofe fewd’ ¥ qwe wIvit
ferfeet 2

(A) T & #eH
(B) 3. TH. . TR
(C) fafeet =i
(D) R e7for afer=q

AN A ~ o LN ~
ETeterienl ShivTea faamaae  sfiee
HieifecaeRt g eRTed T
71 foamre wwd et ?

N~

SIKES

(A) fifast =fed
(B) THericll Hehfegett
(C) fafes =i

(D) T a1 FArSIaS
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45. Who argued in a report to the | 45. ‘‘&fq! #WAE vaar gEenfad shoil
Security Council “peace should be qﬁﬁ”gywaﬁﬁm@[aﬁwmﬁqﬂﬁ
persued only through non-military 3 IEUY T W Wie e ?
methods” ? .

(A) I FXH Hedl
(A) Boutros Boutros Ghali
(B) %l =T
(B) Kofi Annan
(C) Ban Ki Moon (C) = =t 7
(D) None of the above (D) TR FIOMET T
46. (1) State behaviour is a function of | 46. (1) T o & faferse weert sifgers
specific institutional orientations. HE 3R
(2) The foundations of strategic (2) HHE FEpdien SR &1 AR
culture are societal. e
Codes : Tekdleh
(A) (1) is correct and (2) is wrong (A) (1) =X (00 (2)
(B) (1) is wrong and (2) is correct (B) (1) I ST (2) AR
(C) (1) and (2) are wrong (C) (1) emfor (2) IH
(D) (1) and (2) are right (D) (1) for (2) =R

47. What does Paris Accord refer to ? | 47. W@ 3fhiE wHomedt weifed ome ?
(A) Climate change agreement (A) BAMHE s HIX
(B) Military agreement (B) TR IR
(C) Peace Accord (C) VM R
(D) India-Pakistan Dispute (D) YRA-YIfh&™ a1

19 [P.T.O.



48.

49.

50.

International Tsunami Information

Center is located in :
(A) Honolulu

(B) Port Blair

(C) Tokyo

(D) Jakarta

First BIMSTEC Disaster Management
Excercise 2017 (DMEx-2017) was
held in :

(A) New Delhi
(B) Dhaka
(C) Panjim
(D) Chittagong

Who is the head of State Executive
Committee (SEC) constituted under

the provisions of Disaster

Management Act, 2005 ?

(A) Chief Secretary of State
(B) Cabinet Secretary of State
(C) Chief Minister of State

(D) Home Minister of State

48.

49.

50.

JUN - 16220/I1—A

ST AT a1 5

fommft oTR.
(A) BHII]
(B) WE =ieW
(C) arferan
(D) et

2017 U faUESsh SO SHEETIA

NN,
?

Fardd kv foshmoft sheft Bl
(A) it feeedt

(B) <1

(C) dSiH

(D) fedme

2005 =T UK AT IS

o N

TEITER U SRsRl Gifd=n g

HIU STEA ?

(A) TSI qBT |iHd

(B) TSI wfae gfed

(C) Tsar=a HEAw

(D) TN TRHAT
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51.

52.

53.

Earthquakes are measured

using :

(A) Barometer
(B) Seismograph
(C) Polygraph
(D) Altimeter

Which is the only active volcano in

India ?

(A) Mt. Etna

(B) Mt. Vesuvius

(C) Barren Island
(D) Christmas Island

The Fukushima nuclear reactor was

damaged due to :
(A) Bomb Explosion
(B) A typhoon

(C) Heavy rain

(D) Tsunami followed by earth-

quake

51.

52.

53.

JUN - 16220/I1—A

N

[sicdl

Ieh T WICHTUhT IV ST

S ?

(A) HIX
(B) HreHUT®
(C) diferum
(D) 3THR

TRAHEd Wihd SaTeE! Treierie]

v oot e ?
(A) H&He T

(B) WAe agfaad

TR YTHT SATfUereh STU[HET HIMS JLard
El

(A) ST ThHI
(B) <EHA

(C) Afaast

(D) YU 3Teielt AT
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54. Match the following terms with the

55.

regions they are associated with :
List I

(@) Cyclone

(b) Typhoon

(¢) Hurricane

(d) Willy Willy
List II

(1) Atlantic and East Pacific

(2) Australia

(3) Western North Pacific and
Philippines

(4) India and South Pacific
Codes :

(@ b)) (© ()
A @ @ @O O
B 3 @ @ @
€ @ @3 @O @
M @O @2 @ @

Where is the Asian Disaster

Preparedness Centre located ?
(A) Dhaka

(B) Bangkok

(C) Kathmandu

(D) Jakarta

JUN - 16220/I1—A

54. Wl Hehegdl I gevmen fmfed

55.

3R = AT S Seeal
et 1

(@) GFFAA

(b) THA

) A

(d) foeit foreit
et 11

(1) sfeaifesn enfor & dfafres

(2) s fern

(3) ufvew I Ufafther omfvT fheda

(4) ¥R MU WY Yafthen

W M

(@ @) () ()

A @ 2 @O B

B G @ @ @

@ 3 1 @

O 1 2 6 @

SIS STIxl T shg hivrean faemmon
AR ?

(A) @Rt

(B) dhlsh

(C) TS
(D) ekl
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56. A flash flood is a flood which :

57.

(A) Is caused by continuous heavy

rain
(B) Occurs only in urban areas
(C) Occurs suddenly and

unexpectedly and for a short

duration

(D) Is caused by blocking of drains

(1) The September terrorist attacks
on W.T.C. have put new
emphasis on strategies of

prevention and pre-emption.

(2) Terrorist attacks will demand
even better intelligence than
the strategies of containment

and deterence.
Codes :
(A) (1) and (2) are correct
(B) (1) is right and (2) is wrong
(C) (1) is wrong and (2) is right

(D) (1) and (2) are wrong

56.

57.

JUN - 16220/I1—A

“oete TR ' R BEladeh] hTd
e ?
(A) HId= SIH IS IS

(B) W IEH UFG SA@ed Adl

Ut SfoT STEeRYUl o Rl
RGBS IHAURT

ATl ST oA

(1) W< 78l e 38 Y= g
TR BeTATes Baall 2Tetul ST

Foell RIUATYEe WeRERI SUTH B0
T gROMeR foRiY @18 <Suad .

(2) TEIAR! BoedHIo! ST AR ST
TRIEATIET TR F0Eet fovad
ifgcdt ATERTS R,

P
(A) (1) 3707 (2) St fae™ SRR 3Tea

(B) faem (1) =R s7ftr foem (2) =
e

(C) faum (1) == s1fur fagm (2) shieR
e

(D) (1) efur (2) <=1 faem I 3fed

(&)

(D)

[P.T.O.



58.

59.

Which is not a part of Guerrilla

warfare ?

(A) Dialogue

(B) Hit and Run

(C) Peoples Support

(D) Geographical Knowledge
Assertion (A) :

USA’s military expenditure increase
in recent years accounts for almost
half of the world military

expenditure.
Reason (R) :

The global financial crises and
economic recession had little impact

on world military expenditure.
Codes :

(A) (A) is true but (R) is false

(B) Both (A) and (R) are true but
(R) the

explanation of (A)

is not correct

(C) Both (A) and (R) are true and
(R) is the correct explanation

of (A)
(D)

Both are wrong

58.

59.

JUN - 16220/I1—A

Teleren! VAT 9F T SEr A
RECEGICII T

(A) Ha

(B) ARl 3AIfoT w3

(C) irehr=n arfean

(D) siriifers A=

oHAd (A)

IfAareId FTerd AR ET AR Y

T 913 B Sloesdes SdTe] oTsehi]
T A 3ae IR

dqferarat (R) :
UGy SAI107 ffefen Het

g1 SATaeh ARy TETa IS

TRomH e 3.
PO
(A) (A) TR G (R) T TR

(B) TI=I (A) 3T (R) =R g (R)
T (A) I I TR0 TRl

TSI

IENIE

[aV
Sildled

(C) JI=I (A) 3T (R) =R 9 (R)
T (A) 9 IrY TERIU TR

(D) 3= Ih
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60. Assertion (A) :

61.

Indian Government agencies have
been working on plans to counter

social media radicalisation in India.
Reason (R) :

A Whatsapp group of Maulanas
has been created to devise a
communication strategy to prevent
radicalisation of youth.

Codes :

(A) Assertion (A) is correct but

Reason (R) is incorrect

(B) Both (A) and (R) are incorrect

(C) (A) is correct and (R) is the

correct explanation of (A)

(D) (A) is correct but (R) is not the

correct explanation of (A)

Wars that seek to capture political
power through armed struggle are

described as :

(A) Insurgency

(B) Revolutionary war
(C) Civil war

(D) Terrorism

JUN - 16220/I1—A

60. 3MHAT (A) :

61.

TRAT TSR e ST Hetderena!
T IE TS R TR Tl

TR H1E HA 3R,

difeherat (R) :

TEUAT HeAdeaTg Hrerdt=n
Requd J4 T wET =Rt 906
Yol it iR

Hehdich :

(A) IHHEA (A) TR W dMfRawd (R)
ESd

(B) Tl (A) s (R) 9%

(A) IR 3T (R) § (A) o A
TR0 B

(A) IR 37 (R) © (A) = AW
TR AT

(©)

(D)

TTeeTdeh! IO JEUGareT oTshi]
e AT TSR Gl hlarS
FOAE Teh WA A Sd 2

(A) factaar
(B) Hifasrl I§
(C) R g&

(D) <TERIAR

[P.T.O.



62.

63.

Olof Palme’s argument that states
can no longer seek security at each
other’s expense is understood as the

concept of :

(A) Collective security
(B) Human security
(C) National security
(D) Common security

Which of the following is not a pillar
of the United Nations Global

Counter-Terrorism Strategy ?

(A) Addressing the conditions
conducive to the spread of

terrorism

(B) Measures to prevent and combat

terrorism

(C) Build state’s capacity to prevent
and combat terrorism and to
strengthen the role of the
United Nations’ System in that

regard

(D) No guarantee or respect for
human rights and the rule of

law

62.

63.

JUN - 16220/I1—A

AT T FTE 79 SrE 3T foh hivwe!
T MY IS -1 o=
aden g1 Ugde ¥ehd ARl ol
Tl EreTdehl ShIVICAT GEIeh A
el S ?

(A) wHfes gLan

(B) Het HRa&T

(C) T e

(D) WM YRt

Tk ShIOTdT ] BT TIeT TSl
SIMIGERAN GEIHI CE ISR PERISE ||
SEUEET STHREY AT ?

(A) SBIARTAT JHRMEE! TR
ST UREfieR a7 haid hol

(B) <RICARET HHAl LTI ST

@I SIF HIL00

(C) oo TRerqaeTel faevars &

ST ST HSTe[d Shi0]

(D) HIel BFhRT=l hivrdial gl fepan
3T T A0 HEAE T
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64. ‘The Carabinieri’ are a politico- | 64. ‘T Hufariterdl’ sivren e TSifash
military force in which country ? AR TA AR ?
(A) Mexico (A) HfeTent
(B) Spain (B) ¥4
(C) Ttaly (C) weeft
(D) Portugal (D) tﬁﬁ"‘lﬁ
65. The First World War was brought | 65. Tfecl TS IV AW FIER
to an end by which treaty ? O HI0Id A BId 2
(A) Treaty of Versailles (A) =EEE T8
(B) Treaty of Trianon (B) FFFET
(C) Treaty of Westphallia
(C) IR 8
(D) Treaty of Saint Germain-en-
(D) ¥ S ol a8
Laye
66. NMD stands for : 66. T T N ®N w7
(A) Nuclear Missile Defence (&) TR frme feha
(B) National Military Doctrine (B) Ferer faferedt <t
(C) National Missile Defence (C) omer fraEe fevy
(D) Nuclear Military Doctrine (D) kR fafcedl Sl
27 [P.T.O.



67.

68.

(1) When the P-5 all agree to
authorize the deployment of a
UN peace operations force,
problems can still hinder
effective UN intervention.

The P-5 tendency to ‘talk the
talk’ but not ‘walk the walk’.

Codes :

(A) (1) and (2) are correct and (1)
is the rationale for (2)

(1) and (2) are correct and (1)
is not the rationale for (2)

(2)

(B)

()
D)

(1) and (2) are wrong

(1) and (2) are wrong and (2) is
not the rationale for (1)
Russia and China obstructed

UNSC Resolutions on peace
operations in Haiti.

(1)

Russia wanted UN endorsement
of its own intervention in
Georgia in 1994, while China
was seeking an apology from
Haiti for inviting Taiwan’s Vice-
President to the inauguration of
Haiti’s new President in 1996.

Codes :

(A) (1) and (2) are correct and (2)
is the explanation of (1)

(1) and (2) are correct and (2)
is not the explanation of (1)

(2)

(B)

(C) (1) and (2) are incorrect and (1)

is not the explanation of (2)

(D) (1) and (2) are incorrect and (1)

is not related to (2)

67.

68.

JUN - 16220/I1—A

(1) Siegr 91-5 FaiHl 97 e §I
T T B HERA T9d, Ol
Qe e HrefauarErdt S
TS AT TS 3T

(2) -5 =i Yot & ‘dien d dren’ s d
g ‘=ren d =men’’ st TE.

Hehdich :

(A) (1) enfor (2) == 37 (1) § (2)
¥ 4 HRU M

(B) (1) =7for (2) SRR WY (2) ¥ (1)

o DTSRI ARl
(C) (1) =7for (2) =2t Ik

(D) (1) 3nfor (2) I Ik A (2)
T (1) I I &R R
Bt AES INadl hIAATE A

eyl UNSC =1 3qarer Tmn
Mfor === TS ATl

IgraTen 1994 Hiter Sifsten Aeia
e g qegen UN = /=t gat
Bt emfor feeen ¥dieheA ATwEH
B BT RO 1996 HEY Bt -Td
T2 31ee] GURY feash aerar=n
IYSTHET Sictslel Bl
S
(A) (1) oTfor (2) sER 3R ST (2)
T (1) ¥ R TqSh{U 3T
(B) (1) 27fur (2) s@R 3A® S (2)
T (1) ¥ W< ARl

(C) (1) =nfor (2) Ik A 01 (1)

(2) 9 TR0 RN

(D) (1) sfor (2) = e SO0 (1) =N
(2) 3 *HEN Fey A

(1)

(2)
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69.

70.

(1) The United States and its
European allies had completely
different perceptions of the

Bosnian conflict.

(2) The European powers saw an
ethnic conflict and US saw it as

a war started by Serbia.
Codes :

(A) (1) and (2) are correct but (2)

is not the reason for (1)

(B) (1) and (2) are correct and (2)

is the reason for (1)

(&)

(1) and (2) are not correct and

(1) is not the reason for (2)

(D)

(1) and (2) are not correct and

(1) is the reason for (2)

The headquarters of the African

Union is located in :
(A) Johannesburg
(B) Addis Ababa
(C) Nairobi

(D) Kampala

69.

70.

JUN - 16220/11—A
(1) @R sfn @ g et
I A S FESihe oty
A8l oeehlA Bl
(2) JUTTEH TR AR S AT Ferel
TEUH Tifest W SR T g5 Ao
& hal 3T e

- -
-
.

(A) (1) 3for (2) SRR oG (2) 7 (1)
o HRU AR

(B) (1) 37f1 (2) &l ==X A0 (2)
? (1) ¥ I79 SR B

(C) (1) =nfur (2) B T8I Ik M7 (1)
T (2) 9 SR TR

(D) (1) o (2) = Foht= TR (1)
T (2) ¥ HRU I

3R U Woea™ 9q@ S

TRl Y

(A) STeger

(B) 3TEIY 2rerel

(C) ~sht

(D) hHTeT
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71.

72.

73.

When was the North Atlantic Treaty

Organisation established ?
(A) 1949
(B) 1950
(C) 1945
(D) 1940

Name the first Prime Minister of

Pakistan :

(A) Sikander Mirza

(B) Liaquat Ali Khan

(C) Khan Abdul Gaffar Khan
(D) Muhammad Ali Jinnah

United Nations “Uniting for Peace”
resolution was adopted in the back-
ground of which International
crisis ?

(A) India-China War

(B) Korean War

(C) Cuban Missile Crisis

(D) Arab-Israeli War of 1967

71.

72.

73.

JUN - 16220/I1—A

e STEdAlesh HIR-Hoear=] (Arr)

TGN whegl FTedl ?
(A) 1949
(B) 1950
(C) 1945

(D) 1940

qiferEar=ar  Ufgcan 9duenEre g

S IEIe)]
(A) foer<z fosr
(B) foramra otefl @

(C) TH 3Tsgd THRR T

(D) HigHg el S

“gTiErer T @1 SUd WgEd TSt

~ .

I YO dodid TIid  Shiudrd

e ?

(A) 9G-=H g3

(B) &REA Ig

(C) HgeT= &UUME Fersf

(D) 1967 ¥ 3WE-3UTA I§
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74. The Gulf Cooperation Council (GCC)

75.

76.

was established in :
(A) December 1980
(B) March 1976
(C) January 1967
(D) May 1981

Which of the following countries is
not a founder member of the United

Nations ?

(A) People’s Republic of China
(B) Republic of China

(C) Argentina

(D) United States

When did India announce Look East

Policy ?
(A) 1991
(B) 1992
(C) 1993

(D) 1994

JUN - 16220/I1—A

74, TTH RIS HI=HTT= TATIAT HIvT

75.

76.

et A AT 2
(A) fe&sr 1980
(B) W& 1976

(C) SHaRl 1967
(D) # 1981

TEUH e A 7

(A) Tuew Rusclter 3% =
(B) usciier 31f% =ma
(C) 3wsife

(D) Fges ReH

TRAM HI0AT Hiell ek 38 G100
TR ?

(A) 1991

(B) 1992

(C) 1993

(D) 1994
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77.

78.

79.

80.

Which is the highest body that

finalizes India’s Defence Policy ?
(A) Prime Minister

(B) President of India

(C) Cabinet Committee on Security
(D) Joint Chiefs

When did the UN Millennium

Development Goals end ?
(A) 2014
(B) 2015
(C) 2016
(D) 2017

Which set of countries India’s Look/
Act East Policy refer to ?

(A) SAARC

(B) ASEAN

(C) Indo-Chinese Countries
(D) None of the above

Which one of the following is not a

determinant of defence expenditure ?
(A) Leadership
(B) Ideology

(C) National power

(D) Public enterprises like post office

77.

78.

79.

80.

JUN - 16220/I1—A

EeTeTdeh! IV Hated Wi WRaren
T Aidren ifaH WE9 3d 2

(A) qd9H™

(B) gt

(C) & wfere wfdt

(D) THHA yq@ (S =HH)

. . = fafafm Swaade Mieq Fe
q9d ?

(A) 2014

(B) 2015
(C) 2016
(D) 2017

TR hIoTeT ST T BT TRATe
/3 = diferit=n Seuldia oTe ?
(A) ¥

(B) eTf¥Em

(C) SE-T&FAS 3w

fa a

(D) KA hIUAEl TRl

@] iUl T2k 8 SX&quT= @<
fruita swLoamt gefad Arer ?

(A) g

(B) fe=mem

(C) T vkt

(D) wrEdefe FEfad w9 fo O
S|
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81. Under whose Prime Ministership, | 81. WIilciush! sl GAULMIA il ok
the Look East Policy got rechristined SR Hiferdie e i dwe iferd
as Act East Policy ? T ?

(A) Manmohan Singh (A) FfHTe

(B) Narendra Modi (B) Tz HiEt

(C) Atal Bihari Vajpayee (C) ote fordt arsTu]
(D) None of the above (D) FOAde! HIVRIE! TRl

82. Which set of countries was involved | 82. WIElicideh! IV M= T 1999 =
in 1999 war ? Jgd HHA B ?
(A) India-China (A) wRa-==
(B) India-Pakistan (B) -
(C) India-Bangladesh (C) IRA-SeTQsT
(D) India-Nepal (D) 9Rd-A9TA

83. Which country came into existence | 83. WTiicTUsh! IVl T 1971 =1 JFHMR
due to 1971 war ? FAfEdeard e ?

(A) East Pakistan (A) T’f RUESIE

(B) Bangladesh (B) sFaRy

(C) Myanmar (C) ®=MHR

(D) None of the above (D) STt Il T

84. What is POK ? 84. T.FH. WU
(A) Proof of Knowledge (A) I% 3 el
(B) Pak occupied Kashmir (B) s SATRUEES HIRHR
(C) Power of Knowledge (C) dfeR 3ifh et
(D) None of the above (D) e{AUehT HIUTE! el
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85.

86.

87.

What does Aksai Chin refer to ?

(A) Disputed border areas between

India and China

(B) Disputed border areas between

India and Pakistan

(C) Disputed border areas between

Pakistan and China
(D) None of the above

In which year chemical weapons

convention was signed by India ?
(A) 1995

(B) 1996

(C) 1998

(D) 1993

ACWC stands for :

(A) Asian Cyclone Warning Centre
(B) African Cyclone Warning Centre
(C) Arabic Cyclone Warning Centre

(D) Area Cyclone Warning Centre

85.

86.

87.
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[iled

TS <9 WATcideh] ShITE]
AR ?

(A) YRG0 = I Hiad aerdid

JHTT

[a)

N
HHdA

[aY

(e

(B) 9Rd 3Tfor grfepsar aren
SR I

(C) uiferear 2nfor =i Iren EHedid
SR YA

(D) =RIAUeh! IVl T8l

FHIAT I RIS THRA 3T

FHARIAR e el ?
(A) 1995
(B) 1996
(C) 1998

(D) 1993

TH.T . RS

(A) TREE grEdd it @

(B) aMftherd WEEAN 4T deX

(C) faw TR gl T

(D) T gEedq aifHT de
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88.

89.

Which one of the following countries

used biological weapons in war ?
(A) Iraq

(B) Iran

(C) Russia

(D) Japan

One of the following biological agent
was sent by post to US politicians
in 2001. The name of the biological

agent was ......c.......... .
(A) Plague
(B) Ricin

(C) B. Anthracis

88.

89.
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T TeTdehl IV M FE  Sifah

TS SOt Bidl 2
(A) TTH
(B) =
(C) Wern

(D) SUm™

2001 H& GRS TqTeegR U ToTehed et
I Sfowyed TefavaE e B N

qq
(A) =T
(B) f&H=

(C) <t. YT

(D) Botulinum Toxin (D) Wﬂq TRt
90. Which one of the following is not a | 90. TICCIihT HIU T ¥ SHfeih FgTseiidre
potential biological warfare agent ? TR s T T ?
(A) Leukemia (A) faifa=n
(B) Ebola Fever (B) el fhe
(C) Marburg Fever (C) URa fher
(D) Smallpox (D) (Tl
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91.

92.

The term “Nuclear Weapon State”
(NWS) and Non-Nuclear Weapon
State (NNWS) is found in which one

of the following treaties ?
(A) Treaty of Westphalia
(B) Treaty of Versailles

(C) Strategic Arms Limitation

Treaty

(D) Nuclear Non-Proliferation

Treaty

Under the Nuclear Non-
Proliferation Treaty (NPT) how
many countries are recognized as

nuclear weapon states (NWS) ?
(A) Nine
(B) Ten
(C) Five

(D) Zero—No countries can possess

nuclear weapons

91.

92.
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SUTEHHR] AT foreTvae et s

EATAUeh! hIUT] Heft Hed FHIfOS

Aed ?

(A) ATEHITAAET TR

(B) =T T8/

(C) HHeh e 7ael (Fard) et

(D) AU TER &l hil

STV YHR ST IR ST Tehdl IO

e STUSRY TSI Sl W ST
e ?
(A) T
(B) <=1

(C) 9=

(D) IE—HIUEAE LS T

BRI
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93.

94.

95.

What are the “Three Pillars” of the
Nuclear Non-Proliferation Treaty
(NPT) ?

(A) Nuclear weapons, Chemical

weapons and Biological

weapons

(B) Disarmament, Non-Proliferation

and Peaceful uses of Nuclear

technology

(C) Strategic Bombers, Ballistic

Missile and Submarine
(D) All of the above

Which one of the following countries
did not take part in the final Nuclear
Security Summit held in 2016 ?

(A) United Kingdom
(B) Russian Federation
(C) Kazakhstan

(D) India

The location where Pakistan had
tested its nuclear weapons in 1998

was :

(A) Chagai Hills

(B) Lopnor

(C) Khyber Hills

(D) Karachi Test Range
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94.

95.
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U TR dal IR ¢ A ey’
HIUT 3TMed 2

(A) oTveesR, TEEfAe offor faes
AT

(B) TH:3r&ientur, TEReEET 10T Snaare

FEMS] USRI TR

(C) Tfren Sterd, soreier fHesa st
BIEER!

(D) st wd

2016 HEJ FTcledl 3AUsish e firer

FTATTTITAT I AL TeHTT i
& 2

(A) Torea (Faes formred)

(B) WA HhelH

(C) e

(D) ¥rRd

1998 H&Y YIfeh&d T WTeieTdsh] ShIoTea

Y ITId 3TTUoh IS STl shall 2

(A) I TeqErT

(B) U
(C) WeR Yarm

(D) &= == e
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96.

97.

98.

Which of the following is not an
element of conflict prevention

technique ?

(A) Tribunal
(B) Mediation
(C) Good offices

(D) CBMs

Cartagena Declaration of 1984

refers to :

(A) European Declaration of
Refugees

(B) South Asian Declaration of
Refugees

(C) Latin American Declaration on
Arms Race

(D) Latin American Declaration on

Refugees

Who was appointed as the first
Scientific Advisor to Defence

Minister ?

(A) Dr. D. S. Kothari

(B) Dr. Raja Ramanna

(C) Dr. B. G. Nag Chaudhari
(D) M. G. K. Menon
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98.
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(A) TR

(B) T

(C) =M HIIH

(D) &t . Ty

[a N oS o

1984 =41 ST SfedAT shemet frfeq
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(A) Traifaar=n gUfrEs e
(B) Taifaar=n gfeqor i Sfeem

~

(C) I Wyfaeaer ofed ST
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(A) T . TE ®ed
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99. The full form of BEM.L. is ......... )

(A) Bharat Engineering Machines
Limited

(B) Bombay Earth Metals Limited

(C) Bharat Earth Movers Limited

(D)

None of the above

100. (1) Unity of Command is less

assured in peace operations.

(2) Peace forces are often drawn
from a wider variety of troop
contributing states than in

normal coalition warfare.
Codes :

(A) (1) and (2) are correct and (2)

is the rationale for (1)

(B) (1) and (2) are correct and (1)

is the rationale for (2)

(C) (1) and (2) are incorrect and (1)

is the rationale for (2)

(D) (1) and (2) are incorrect and (2)

is the rationale for (1)

JUN - 16220/1I—A
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(A) 9 e ufyryg fafaes
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(B) T 319 Heaq fa
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o

(H

N
[SAS)

(D) I I el

100. (1) IIAT SHIEEG HHTSSAT Tehd=

@l HH TE.

(2) ERUYY JFUHR Ial & wnad
T ¥ I Theva™ ARRH 0Tl
fafay em= wgd Sdel S

Hendich :

(A) (1) & (2) SRR 3 30 (2) &
(1) =1 Tk M

(B) (1) 9 (2) IR g 37T (1)
(2) =1 d% e

(C) (1) 9 (2) I 38 M0 (1) 7T (2)
o qh 3T

D) (1) (2) I 3R 0 (2) 7 (1)
o qh 3T
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